ANNEXURE - 39

(CHAPTER XV, PARA 15.28.8)
FORM 20

FINAL RESULT SHEET
[SEE RULE 56C(2)(C)]

ELECTION TO THE HOUSE OF THE PEOPLE FROM THE ALWAR (08) PARLIMENTARY CONSTITUENCY
PART |
(To be both for Parliamentary and Assembly Election)
Total No. Electors in Assembly Constituency/Segment 233069
Name of the Assembly/Segment 059 TIJARA (In the case of election from a Parliamentary Constituency)

No. of Valid Votes cast in favour of

Serial No. = Total of Nq. of No. of

& Imran | BRaWar | poak | AM9%P | it | Gulab Amit AEE | iy Raj Pawan | 1 dan | Valid Relectel nota | Total [tN9er
Pc_Jlllng Khan e Nath Kumar Jangir [ Singh Kumar Ol Munjal Kumar Lal Votes d ed

Station No. Singh Meghwal Gupta Sain Jain Votes Votes
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
1 1 4 78 768 4 0 0 0 1 2 4 3 864 0 4 868 0
2 2 14 125 896 0 0 0 0 0 0 0 0 1035 0 3 1038 0
3 3 51 156 1014 1 0 1 0 0 1 2 1 1227 0 9 1236 0
4 4 22 116 516 2 1 1 0 0 1 0 0 659 0 1 660 0
5 5 9 129 754 1 0 0 0 1 0 2 0 896 0 8 904 0
6 6 18 92 813 2 1 0 0 0 1 1 0 928 0 3 931 0
7 7 14 146 695 1 1 0 0 0 0 1 0 858 0 6 864 0
8 8 3 68 812 4 0 0 0 0 0 1 0 888 0 7 895 0
9 9 13 96 739 0 0 0 0 0 0 0 1 849 0 5 854 0
10 10 12 52 880 2 1 0 1 0 0 1 1 950 0 5 955 0
11 11 14 81 676 0 0 0 0 0 0 0 0 771 0 1 772 0
12 12 4 207 635 1 0 0 0 1 0 3 2 853 0 2 855 0
13 13 13 128 681 3 0 0 0 1 1 0 1 828 0 8 836 0
14 14 9 180 568 2 1 0 0 0 0 1 1 762 0 6 768 0
15 15 18 108 673 3 0 0 0 0 1 2 2 807 0 3 810 0
16 16 11 137 439 0 1 0 1 0 1 0 2 592 0 0 592 0
17 17 253 164 469 3 0 0 0 1 0 1 0 891 0 4 895 0
18 18 0 77 607 1 0 0 0 0 0 0 1 686 0 1 687 0
19 19 99 200 492 1 1 0 0 1 0 3 3 800 0 0 800 0
20 20 45 82 631 3 0 0 0 1 0 3 0 765 0 3 768 0
21 21 43 71 354 2 2 0 0 0 0 0 0 472 0 1 473 0
22 22 174 84 451 2 0 0 0 2 1 3 2 719 0 3 722 0
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) No. of Valid Votes cast in favour of
Serial No. ad " Total of No. of No. of
& vocate . Rejecte tender
: Imran | BRanwar | poak | AM9%P 1 it | Gulab Amit Anand | Raj Pawan |\ dan | Valid ] NOTA | Total
Polling Khan JiEEnelia Nath IS Jangir [ Singh Kumar FUmEY Munijal LOEILETS Lal Votes d ed
Station No. Singh Meghwal g g e Sain J Jain Votes Votes
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
247 | 247 33 613 36 0 0 0 0 0 0 2 687 0 3 690 0
248 | 248 218 105 203 3 2 0 0 3 0 4 539 0 2 541 0
Total No.
of Votes 12780 57076 87814 371 176 64 88 137 97 304 238 159145 0 606 159751 0
recorded
No. of
Votes
recorded
on postal N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A
ballot
papers
Total Votes
Polled 12780 57076 87814 371 176 64 88 137 97 304 238 159145 0 606 159751 0
Place : Alwar . .
Inderjeet Singh
Date: 23 May 2019 (Inderj gh)
Returning Officer
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